STANDARD FORM
38 | Converting a small number into standard form 0.00000037 = 3.7 x 107
39 | Converting a very large number to standard form | 147 100 000 000 = 1.471 x 10**
40 | Converting to a small ordinary number 2.4 x 10* = 0.0000024 E S
41 | Converting to a large ordinary number 5.67 x 109 = 5 670 000 000
= Numerator the number on the top of a fraction Numerator
The numbers must be converted into D -
the ordinary numbers Denominator the number on the bottom of a fraction N———
42 | Adding or subtracting numbers in standard (2.3 x10*) + (6.4 x 10%) Equivalent Fractions which have the same value 1_3_10
i or41 %S Fractions but look different s
_ ; 94 x 10* simplifying Fr Divide numerator and denominatorby | 24 _ 4
=2 actions HCF 3 s
The format stays the same. i, X Sofa2
We can use index laws to help us. F allia t Amount d.mded by the denominator 7
43 | Multiplying numbers in standard form (1.5 x10%) x (3 x 10%) then multiplied by the numerator. 42+7x5=30
=4S X 103;S A number made from integer and 12
=45 x10 — ber fraction parts 8
The format stays the same. Before rm:'ltiplying, divid‘ing. adding or subtracting, always
We can use index laws to help us. change mixed numbers into Improper fractions
44 | Dividing numbers in standard form (25 x10'") + (5 x 10'%) Improper Fraction A number made from integer and 12
=05 x 1072 fraction parts 8
=5 x10"3 Compare Fractions Write them with a common denominator
1
SURDS Unit Fraction Has a numerator of 1 r
S| Multiply surds vaxya=a The reciprocal of a number is one Reciprocal of 7 is
- ng Va _ \F ikl divided by the number. g
Vb \b Dividing by a number is the same as #2 is the same as x—
multiplying by its reciprocal 2
\(;-0-.\/5 Cannot But \/E'# \/5'2‘/5 =
47 | Add and subtract surds simplify Dacwisl Decimals that can be written exactly. 038
Va+vVa=2Va 5va-2va = 3Va
Recurring Decimals where one digit or a group of 0.777..... =0.7
V50 = V25 x 2 V50 + V18 = 5vV2 + 3V2 Decimal digits 0.~ A9
gits are repeated.
48 | simplify =V25X\/§ =8yr2
=5xvV2 Simple Interest Interest is calculated as a percent of an original loan
=5V2 Compound When interest is calculated on both the amount borrowed
Rationalise the ‘/_ Interest AND any previous interest
denominator - Ensure - - ! x S—v2 A financial charge placed on sales or savings by the
49 | there are noirrational L3 = 1 X ﬁ = ﬁ 54+4V2 S5+V2 5-V2 T government e.g. VAT
::::,b,::;: otfhe 7 7 VN7 7 = 5 '3‘/7 TOpi c: Standard Form Loss Income minus all expenses, resulting in a negative value.
Profit Income minus all expenses, resulting in a positive value.




